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2. Consider the function :  f(x) =10x" —30x% + 3027 —10x

where 7(x)=10{x— 1}2 {4x-1) and F"(x) = -60{1- 2xXx -1}

Supply the information requested in the boxes at right and
give a careful sketch of 7 on the axes below.
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Test : Curve Skeiching

; o 4 - x-2
1. Consider the function Fix= {x+ 2]2
_ : 4{sx+ 2} . —3(5x-2)
- d St
gven f(x) e 2y and  F(x) e

Supply the information requested in the bozes at right and
aive a careful sketch of f on the axes below.

‘&ﬂ : (Note: f[— 53}3 225 and y{%} 5-156)
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Curve Sketching: Practice Questions
Page 240 from your textbook...

20 v=l?-1) v =6x(x*-1f v =67 —1)53% ~1)
b X o Ox 1,,_18(1—;\#2)
LT3 _(3.24—3)2 - (x? +3)
N o —x' -1 ,,:2:»:.'3+6:\
5. - }‘2_1 - (12_1)2 (}‘2—1)3
Cxi -1 ,_—(72—?) _,,_2(;\2—6)
8 V= - V= . y'= -



Fox)= X+2)" -t
LYLTG Q/ )(wvf" —E)
F 00 =41 H ,,,,MCQ

KEF9) it

)= @x(xr
TR




6. Consider the graph of the function (UNB 2000 Final Exam)

(=42
fla) = 24
You are given that
9 9
16 — 4= Sr(x= —12)
! _ and W o
I {I) (Ig +4)2 il ) (.1‘2 +4)3

a) Find the z-intercept.

(
(b) Find all vertical or horizontal asymptotes, if any.

(¢) Determine the intervals where f(x) is increasing or decreasing.

(d) Determine the intervals where f(x) is concave up or concave down.
(e) Find all inflection points.

(f) Find the absolute maximum value of f(x), if it exists.

(g) Sketch the graph of f(x).
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Tost : Curve Shatching

Fo= -8&—2)

1. Consider the function
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2. Consider the function:  f(x)=x - 2x’ ,h{f?; ]\1”) | {vaiue = 24)
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